INFORMAL BID NO.: IFB150096

25-30 coileage

LEE COUNTY, FLORIDA PROPOSAL QUOTE FORM FOR

CITY OF PALMS PARK, PLAYER DEVELOPMENT COMPLEX, AND TERRY PARK

DATE SUBMITTED:					
VENDOR NAME:			·····		
TO: The Board of County C Lee County Fort Myers, Florida	ommissioners				
Having carefully examined the which are contained herein, the specifications:					
NOTE REQUIREMENT: IT CHECK LEE COUNTY PRO PROJECT ADDENDA ISSUI ADDENDA TO THIS WEB P	CUREMENT I ED FOR THIS I	MANAGEI PROJECT.	MENT WEB . THE COU	SITE F	OR ANY
The undersigned acknowledges receipt of Addenda numbers:					
SECTION A	<u>PRI</u>	<u>CING</u>			
EVENTS:					
All references to attendance a only; no guarantees are expre			lculation and	l evalua	tion purposes
Area/Location	Cost per event	X	Attendance	=	<u>Total</u>
Stadium Areas (College Games)	\$	X	50-500 1500-3000 3000-6000+		\$ <u>000,00</u> \$ <u>325.00</u> \$ <u>450.00</u>
Stadium Areas (Other Events)	\$	X	50-1500 1500-3000 3000-6000	= = =	\$ 175.00 \$ 295.00 \$ 400.00
Player Development Complex	\$	X	50-1500 1500-3000	=	\$ 200.00

X

Concourse

(Other Events)

3000-6000 =

1500-3000 = 3000-6000 =

50-1500

Trans bounds

SECTION B

RESTROOMS/SHOWERS:

All references to quantity are for bid calculation and evaluation purposes only; no guarantees are expressed or implied.

PROVIDE A SINGLE COST PER RESTROOM/SHOWER PRICING/RATE FOR EACH AREA/LOCATION LISTED BELOW.

Area/Location	Cost per restroom	X	QUANTITY	=	<u>Total</u>
Player Development Complex	X:				
Maintenance Building:					
(Area "A")	\$ \$.00	X	2	=	\$ 10.00
(Area "B")	\$ 8.00	X	1	=	\$ 8.00
Restroom Building (Outdoor):					
(Men)	\$ 2.00	X	1	=	\$ 200
(Women)	\$ 3.00	X	1	=	\$ %
Club House:					
Front Offices					
(Men)	\$ 2.00	X	1	=	\$ 2.00
(Women)	\$ 3 .00	X	1	=	\$ 3:00
Umpire Room	\$ 10.00	X	1	=	\$ 10.00
Coach's Locker Room	\$ 10.00	X	1	=	\$ 10-00
Player's Locker Room					
(Area "A")	\$ 15.00	X	1	=	\$ 15.00
(Area "B")	\$ 15.00	X	1	==	\$ 15.00
Tower Building	\$ 10.00	X	1	=	\$ 10.00
City of Palms Stadium:					
Stadium 1 st floor (offices)	\$ 50.00	X	1	=	\$ 50.00
Stadium 2 nd floor (offices)	\$ 300.00	X	1	=	\$ 300.00
Stadium 3 rd floor/ Suite Area	\$ 100·cs	X	3	=	\$ 100.00
Stadium 3 rd floor Press/Media	Area \$ 100.00	X	2	=	\$ 100.00
Stadium Concourse	\$ 100.00	X	4		\$ 100.00
(1st Base side and 3rd Base side					- 3
Home Club House Players/Coa	aches \$ \$50.00	X	3	=	\$ \$ 150.00 \$ \$ 100.00
Visitor's Club House Players/I	Mang. \$).e.X	2	· =	100,00
Press/Media Area	\$ 29.00	Х	C . 1	=	\$ 25.00

INFORMAL BID NO.: IFB150096

Dugout	\$ 150·°	X	2	=	\$ 300.00
(1st Base side and 3rd Base side)					
Concourse Family Rest Rooms	\$ 15.00	X	2	==	\$ 30.00
(1st Base side and 3rd Base side)					
(Women)	\$_50.0	X	1	=	\$ 50.00
(Men)	\$ 50.00	X	1	=	\$ 50.00
(Umpire locker Room)	\$ 40.00	\mathbf{X}	1	=	<u>\$ 40.00</u>
First Aid/ Security Room	\$ 40.w	X	1	=	s 40.00
Terry Park:					
Club House #1	<u>ه دره، دې</u>	X	1	=	\$ 46.00
Club House #2 (Umpires)	\$ 15.00	X	1	=	\$ 15.00
Restroom Complex (Outdoor)					
(Men)	8 40.co	X	1	=	\$ 40.00
(Women)	\$ 40.0	X	1	-	\$ 40.00

TOTAL COST: 1680.

SECTION C

ROOMS/AREAS:

Player Development Complex					
Clubhouse Offices	\$ 5.00	X	7		\$ 35.00
Conference room (front)	§ 5 .∞	X	2	=	\$ 10.00
Kitchen	\$ 40.00	X	1	=	\$ 40.00
Clubhouse All purpose rooms (rear)	\$ 10.00	X	3	=	\$ 30·co
Player's Locker room	\$ 100.CD	X	2		§ <u>200.€</u>
Umpire Locker room	\$ 100.00	X	1	=	\$ 100.00
Coaches Locker room	\$ 75.00	X	1	=	\$ 75.00
City of Palms Stadium					
3 rd Fl. Press/Media Area (8-small, 1-large)	\$ 7	X	9	=	\$ <u>63</u> .00
3rd Floor Suites	\$ 10.00	X	3	=	\$ 30.00
2 nd Floor	\$ 10-00	X	5	_	٠ د ٨٠ ٠ ١٥٥
		4 X	J	=	\$_ 3
1 st floor Offices (by Elevator)	\$ 10.00	X	3	=	\$ 30.0
1st floor Offices (by Elevator)1st Floor Ticket Offices	\$ 10.00				\$ 30.ca \$ 36.co
, ,	(.00	X	3	===	\$ 30.00 \$ 36.00 \$ 25.00
1st Floor Ticket Offices	(.00	X X	3	=	\$ 30.00 \$ 36.00 \$ 25.00 \$ 45.00
1 st Floor Ticket Offices Souvenir Shop	(.00	X X X	3 6 1	=	\$ 30.00 \$ 36.00 \$ 25.00 \$ 45.00 \$ 356.00

INFORMAL BID NO.: IFB150096

Stairwells	\$ 40.00	X	4	=	\$ 160.00
Elevator (1) and Lobby Areas (3)	\$ 10.00	X	4	=	\$ 40.00
					1 210.00
			Τ	OTAL CO	ST: 1,319.00
TOTAL OVERALL COST F	OR ALL SECTION	ONS: \$	2,0	199.05	Q
OPTION A:					
Male Attendant for Stadio	am Restrooms \$ _	45	,00	(NEC	OTIABLE)
OPTION B:					
Female Attendant for Sta	dium Restrooms	s Sc	,00	(NI	EGOTIABLE)
OPTION C:					•
Cost to clean added space	e, items, or events	s with u	nder 500 a	attendees ei	tc\$ 20.00
	*			Hourl	y (NEGOTIABLE)
OPTION D:	vash \$ 25.0	20			
Hourly cost to pressure w	rash \$ < < > C		(NEC	GOTIABLE	5)
OPTION E:					
Cost for events cleaning equipment \$	Sections "A", "B (NEGOTIABLI	3", & "(E)	C") with C	County Supp	olying all
TO BE STARTED WITHIN	<u>/ </u>	CALEN	DAR DA	YS AFTEI	R RECEIPT OF
AWARD AND PURCHASE OR	DER.				
Quoters should carefully read all	the terms and cor	nditions	of the spe	ecifications	. Any
representation of deviation or mo	dification to the c	quote m	ay be grou	unds to reje	ect the quote.
Are there any modifications to the YES	e quote or specifi	cations'	?		
Failure to clearly identify any mogrounds for the quoter being decl by the County.					
MODIFICATIONS:					

Bidder shall submit his/her bid on the County's Proposal Quote Form, including the firm name and authorized signature. Any blank spaces on the Proposal Quote Form, qualifying notes or exceptions, counter offers, lack of required submittals, or signatures, on County's Form may result in the Bidder/Bid being declared non-responsive by the County.

ANTI-COLLUSION STATEMENT

THE BELOW SIGNED BIDDER HAS NOT DIVULGED TO, DISCUSSED OR COMPARED HIS BID WITH OTHER BIDDERS AND HAS NOT COLLUDED WITH ANY OTHER BIDDER OR PARTIES TO A BID WHATSOEVER. NOTE: NO PREMIUMS, REBATES OR GRATUITIES TO ANY EMPLOYEE OR AGENT ARE PERMITTED EITHER WITH, PRIOR TO, OR AFTER ANY DELIVERY OF MATERIALS. ANY SUCH VIOLATION WILL RESULT IN THE CANCELLATION AND/OR RETURN OF MATERIALS (AS APPLICABLE).

FIRM NAME: Jan - Pro cleaning systems
BY (Printed): frank Papasodero
BY (Signature):
TITLE: Presidant
FEDERAL ID # OR S.S.# 34 204 8077
ADDRESS: 12165 Metro Parkway # 23
fort myers th 33966
PHONE NO.: 239-482-8800
FAX NO.: <u>239 - 482 - 8880</u>
CELLULAR PHONE/PAGER NO.: <u>239</u> 896-2209
DUNS#:
LEE COUNTY LOCAL BUSINESS TAX ACCOUNT NUMBER:
E-MAIL ADDRESS: Vito. Papasodem @ Jan- Pro. Com
DICADVANTACED DI IGINECC ENTEDDDICE (DDE).

AFFIDAVIT CERTIFICATION IMMIGRATION LAWS

SOLICITATION NO.: IFB 151096 PROJECT NAME: Jan toric Services for City of Palms Park, Picyer Development Complex + Terry Park

LEE COUNTY WILL NOT INTENTIONALLY AWARD COUNTY CONTRACTS TO ANY CONTRACTOR WHO KNOWINGLY EMPLOYS UNAUTHORIZED ALIEN WORKERS, CONSTITUTING A VIOLATION OF THE EMPLOYMENT PROVISIONS CONTAINED IN 8 U.S.C. SECTION 1324 a(e) {SECTION 274A(e) OF THE IMMIGRATION AND NATIONALITY ACT ("INA").

LEE COUNTY MAY CONSIDER THE EMPLOYMENT BY ANY CONTRACTOR OF UNAUTHORIZED ALIENS A VIOLATION OF SECTION 274A(e) OF THE INA. SUCH VIOLATION BY THE RECIPIENT OF THE EMPLOYMENT PROVISIONS CONTAINED IN SECTION 274A(e) OF THE INA SHALL BE GROUNDS FOR UNILATERAL CANCELLATION OF THE CONTRACT BY LEE COUNTY.

BIDDER ATTESTS THAT THEY ARE FULLY COMPLIANT WITH ALL APPLICABLE IMMIGRATION LAWS (SPECIFICALLY TO THE 1986 IMMIGRATION ACT AND SUBSEQUENT AMENDMENTS).

Company Name: 39, -1	Pro Cleaning Systems, inc.
President	1-34-15
Signature Title	Date
STATE OF Florida COUNTY OF LEE	
The foregoing instrument was signed and acl	knowledged before me this 22 day of Janvary
20 15, by Frank Papa sodes to	who has produced
(Print or Type Name)	
9123260690430 as identifica	ation.
(Type of Identification and Number)	
Sh. Sh	
Notary Public Signature	
Matt Amodeo Printed Name of Notary Public	MATT AMODEO Notary Public - State of Florida My Comm. Expires Aug 22, 2018
FF 135444 / 8-22-20/8	Commission # FF 135444

The signee of this Affidavit guarantee, as evidenced by the sworn affidavit required herein, the truth and accuracy of this affidavit to interrogatories hereinafter made. <u>LEE COUNTY RESERVES THE RIGHT TO REQUEST SUPPORTING DOCUMENTATION, AS EVIDENCE OF SERVICES PROVIDED, AT ANY TIME.</u>

Notary Commission Number/Expiration